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sin(z/4)* +cos(x/4)*

| Math.sin(Math::P1/4)**2+Math.cos(Math::P1/4)**2
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x=1000

h=x/3600

m = (x % 3600 )/ 60
$=x-h*3600-m *60
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irb(main):001:0>[3+2p5 5>5
=> false

irb(main):002:0> 3+2>4-2 5>2
=> true

irb(main):003:0> 3+2>4-2 and 3+2>5 5>2and5>5 ‘

=> false

irb(main):004:0> 3+2>4-2 or 3+2>5 5>20r5>5

=> true

irb(main):005:0> 5>2 and 1>2 or 3>2 5>2and 1>2 =>false
=> true 3>2=>true
irb(main):006:0> 5>2 and 1>2 and 3>2 | BI=HELTIL true

=> false

5>2and1>2 =>false
3>2=>true
I ELTIL false
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x=12
if x % 5 == 0 then
print(x * 10 )
else
print(x =x* 100 )

end
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X ="ruby"
if x.length >= 5 then
print(x *2)
else
print(x * 10 )
end
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x =32
y=16
if x >=y then

print( x , "[&" ,y, "EALE")
else

print( x, "IX", y, "ER&")
end
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X=y
y=x
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L @ work = y;
Q@y=x
@ x = work;
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o x=2017
i 0, ==
if x/10 > x % 10 then X% 4print?x)
print( x*2 ) else
else i *
print( x*10 ) end Print( (x4 )+ 1)74)
end
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x=15
y=10
print("x=",x,"y=",y)
if x >y then

work =y

y=X

X = work
end
print(("x=",x,"y=",y)




